
Match the answer with the question.

1. a. 16 14× =

b. 14 6× =

c. 16 10× =

d. 19 14× =

e. 10 20× =

f. 18 5× =

g. 5 19× =

h. 5 5× =

i. 3 11× =

j. 8 8× =

F = 224

G = 84

H = 160

D = 266

A = 200

C = 90

J = 95

E = 25

B = 33

I = 64

2. a. 9 18× =

b. 18 10× =

c. 16 7× =

d. 4 14× =

e. 20 14× =

f. 2 18× =

g. 11 14× =

h. 10 16× =

i. 10 11× =

j. 19 12× =

J = 162

F = 180

D = 112

A = 56

B = 280

C = 36

G = 154

H = 160

I = 110

E = 228



Match the answer with the question.

1. a. 16 14× = F

b. 14 6× = G

c. 16 10× = H

d. 19 14× = D

e. 10 20× = A

f. 18 5× = C

g. 5 19× = J

h. 5 5× = E

i. 3 11× = B

j. 8 8× = I

F = 224

G = 84

H = 160

D = 266

A = 200

C = 90

J = 95

E = 25

B = 33

I = 64

2. a. 9 18× = J

b. 18 10× = F

c. 16 7× = D

d. 4 14× = A

e. 20 14× = B

f. 2 18× = C

g. 11 14× = G

h. 10 16× = H

i. 10 11× = I

j. 19 12× = E

J = 162

F = 180

D = 112

A = 56

B = 280

C = 36

G = 154

H = 160

I = 110

E = 228


